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= 15,000
Al 60,000
Qb ZSEXNIZHEEL 75,000 75,000 0
oudlzZ 4 XA 75,000,000 = 14l 75,000
< 15,000
Al 60,000
XFodl =X & 72,365 54,000 18,365
201 et 12,000 12,000 0
01 At 22l I 12,000 12,000 0
OUHIZ XS AR dXE X&E
1,000,000& * 128 * 1JHA 12,000
301 LA S 10,365 0 10,365




SH R D
M olgel mel(ZZEMULC
e

o
©el: gRae

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHI X & 2 10,365 0 10,365
OXeer S3&IF olgl =2 2+a X &
3,000 * 3,4559Y * 13| 10,365
401 AlEHIZL 2 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OS3HOH AP ELR AT =AY &
50,000,000 * 14! 50,000
CCTV el (2Z2E AN LA /THLHETH - B18tL]) 3,882,325 3,308,671 573,654
o= 21,524
Al 3,860,801
CCTV &2 2,610,308 2,286,861 323,447
CCTV SE2HAEH &4 2,610,308 2,286,861 323,447
101 e1214| 832,800 804,000 28,800
04 J|12ZtHIZ22NEES 832,800 804,000 28,800
OJZ2ZMZ2ZZ2R B(A 12, NS 12/AH2 Xt
U 22X 22 ELE) 34,700,000 « 24 832,800
201 et 1,010,008 837,861 172,147
01 AP 2t 2] H| 16,160 16, 160 0
OZHHEEH 22 900,000& * 12& 10,800
OAFRR =464 3,600
— EAMD] EY 200,000& = 53] = 104 1,000
— PC =2/l 100,000& * 13 = 20CH 2,000
— JIEF #=2lt] 50,0008 = 12&€ 600
OSE&MAAEY SXNE4 |IEEH SAHYH|
1,100,000& = 14! 1,100
OEEHAMNEH S8 A2 15,0008 * 12& 180
OSEg&HMHAH 2 2XE
40,000 * 12& 480
02 Z2=2=24%4| 993,848 821,701 172,147
OCCTV KA 202,600
—gHsE 2 elol s CCTV
300,0008  338CH 101,400
— A& 22| sH A CCTV 300,000 * 6404 19,200
— XS QlAl CCTV 400,000€¢ * 20504 82,000
Ozl AE=2 485,800
— Mg 3,200,000 = 134 = 12& 38,400
— 25 100,000 * 48341 = 12& 57,600
=80 100,000 = 343| & = 12&€ 40,800
— XS QA CCTV
100,000 = 953 &1 = 12& 114,000
—SHS 80,000& = 15084 » 12& 144,000
— A7 AXl CCTV 3l d
100,000 = 1303/ = 7€ 91,000
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SIS DY Ry
B CCTV 2 (SSE MU /THLHET - 1)
1 CCTV 2¢l

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&IIANEZ 98,840
— dIH 1,500,000& = 12& 18,000
— 2N 20,000& = 261004 « 12& 62,640
— &l 20,000& = 130002 = 78 18,200
OZHMAAE KX E=H 206,608
—HW(2HMAMH, GIS/H A S)
712,271,590% = 7/100 * 1.1 54,845
—UHEHD FH(AKAZGE L BEH|)
310,107,660& * 7/100 * 1.1 23,879
—gy/8E 318,403,000 = 7/100 » 1.1 24,518
— SHEYI 113,385,470& * 7/100 * 1.1 8,731
—S/WEE2H, MEEH S)
599,960, 100& * 12/100 * 1.1 79,195
—AEs2sI RAS=H 220,000& = 23| 440
—Sg2MAH UPS SEAX WA
15,000,000 * 14 15,000
207 RO 14,500 21,500 A7,000
02 ™A 2] 14,500 21,500 A7,000
OSEZHAAE MH 0S &
14,500,000 » 14 14,500
405 TtobH S| 753,000 623,500 129,500
01 AL EFH S 753,000 623,500 129,500
OSeg2MEdH == ESAIAE WH
208,000,000 * 14| 208,000
OSEZHMAAE AGE2NMAYE S&
131,000,000& * 14! 131,000
OSe2MAAHE MNEEX 54
280,000,000& * 14! 280,000
OSe2H4dE AlZSIIa A &X
24,000,000& * 14! 24,000
OYa S8 2M 24 AAEY &X
110,000,000 * 14! 110,000
olg 2 XIetMHIA 1,272,017 1,021,810 250,207
< 21,524
1,250,493
AAsLYHASHZAUSI XA 123,270 131,110 AT,840
301 LEXZ 112,030 121,870 A 9,840
04 HtSLHUHAH X 112,030 121,870 A 9,840
OXsey oraHl XI&
3,500 * 68 = 365¢ 86,870
OXtsgdgxza ety XA
100,000& = 17JHCH = 504 & 8,500
OxsgHEs 2 500,000& * 1724 CH 8,500
OnsgdgAgl 2=S&sHl XA
10,000& » 68HCH » 123 8,160
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ful)
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 11,240 9,240 2,000
04 DI2HHALALSE E X 11,240 9,240 2,000
OXsLHASH stun=a0e & IIFE0S
sl (2xg 80%) 9,000
11,250,000& = 13| = 80/100
OJIZZAN &8 & SuES0g 2me
2,800,000& = 13 = 80/100 2,240
HAEMY &= 1,077,000 850,000 227,000
401 Al HIZ 201 Y] 1,077,000 850,000 227,000
01 A& HI 1,077,000 850,000 227,000
OFe&=z LYE CCTVEXI 700,000
— XEHs oAZE CCTV WA
20,000,000 = 1204 240,000
— XS AAE CCTV &l 74X
20,000,000& » 2104 420,000
— =24 CCTV &34 Xl 10,000,000 * 4CH 40,000
Osgs &8s CCTvV &7 &3
4,000,000& = 90CH 360,000
Onsddl =5 =4 222¥d
8,500,000 20 A 17,000
() A F 24X ACCTVY X 54,267 40,700 13,567
< 16,280
Al 37,987
401 Al HI R 201 I 54,267 40,700 13,567
< 16,280
Al 37,987
01 A& HI 54,267 40,700 13,567
OCccTV A Xl 54,267,000 = 14 54,267
< 16,280
Al 37,987
(D)HSLHUA SHe2s8 225 A2 17,480 0 17,480
< 5,244
Al 12,236
301 LBEAZ 17,480 0 17,480
< 5,244
Al 12,236
04 HtSLHUHAH XA 17,480 0 17,480
ONSYHHY YyzBesE 222 Y
52,9693 3309 17,480
< 5,244
Al 12,236
HY2AZ Y (CHE ) (D1EH/ JIEL) 93,914 86,860 7,054
Jl2 &3l 93,914 86,860 7,054
JlE&l 93,914 86,860 7,054




AN ATt
FM: HE2IZH (SE D) (JIEH/IIE)
¢l =gl CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 22,874 20,560 2,314
01 At 22l 22,874 20,560 2,314
OSMEX F 15,000& » 162 A « 123 2,880
OEZ20AY 7,000& * 641 » 16¥ * 123 8,064
Oggtxx2 100,000& * 12& 1,200
Oa2m2 EA7Y| 50,000& = 12& 600
OLAa2 =4&H| 9,170
— SAI =2l 1,000,000& » 104 1,000
— ZEH =a 100,000& * 500 = 50/100 250
—SAMI ENH 200,000& 53 = 104 1,000
— Z2EH(E%) E4 200,000& * 53] = 504 5,000
— IZEE(Zet) E4d  200,000% * 53 = 104 1,000
—PC =¢cl 100,000& = 16CH * 20/100 320
— JIEt==2lHl 50,000& = 12& 600
OJIEIAIE 83 HI 5,000& = 16H » 123 960
202 04l 66,240 62,100 4,140
01 = LH 4 Hi 66,240 62,100 4,140
O2Z& U o Hi 20,0002 = 16F * 128 * 123 46,080
O&2 ™o dl 90,000& = 169H » 14¢ 20,160
203 YR =] 3,600 3,000 600
04 EA2IYRFLH| 3,600 3,000 600
ORN2EYR=AHI 300,000& = 12& 3,600
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OXMS AR A Y| (LA TH LA
100,000& » 12& 1,200
HPES (UML) (SSEHMLH/THHET - 212R]) 546,491 493,851 52,640
TE PP 546,491 493,851 52,640
LHEHHXI & 546,491 493,851 52,640
70201383 546,491 493,851 52,640
01 JI3dE= 546,491 493,851 52,640
OMgzelIz &3 (MY L o2 I=2Y
H67x) 163,947,071,070& = 1/3 = 1/100 546,491




